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CORRIGENDUM

Aharonov-Bohm scattering on parallel flux lines of the same magnitude
Gu Z-Y and Qian S-W 1988 J. Phys. A: Math. Gen. 21 2573-85

(i) The denominator v27kp on the rRHs of equation (52) should become iv27kp.
Correspondingly, the factor i should be cancelled from the coefficients of the second
term inside the large parentheses on the rHs of equations (54) and (57), and from the
first term inside the large parentheses of equations (55) and (56).

(ii) The first term inside the large square brackets of equation (A2.6) should become

i —i2am

—-3e cos 26. (E1)

Correspondingly, the second term inside the curly brackets of equation (60) should
become

—e 2% cos 26. (E2)

(iii) It should be noted that the coefficients of the Mathieu functions C%,;, CSy,

mis - - - in equation (23) and those coefficients of equation (32) are functions of « and

g. Hence when we expand those coefficients as a power series in g, there should be

some additional terms for each such coefficient, for example, for C5,, the additional
terms are ci,;q+O(q’). Correspondingly, the correct version of equation (58) is

J(8) =3[H +h3q+0(q")]ces(6, q) + 21 [HT+h{,q+0(g*)]ces(6, q)

+ L [H3+h3,q+0(g")]cern-1(6, g)

n=0

+ ¥ [Hi+h3,g+0(g%)1ses,:1(6, q)

n=0

+ 5 [H:+hiq+0(g)]sesnsa(6, q). (E3)

n=0

Here we use f.(6) to represent the corrected version of f(8), similarly, we use f.(8)
to represent the corrected version of f;(6). Neglecting O(q?), equation (E3) becomes

fe(8) =fo(8) +£1.(6)

=fo(0)+f1(6)+q<%h31+ § B, cos(2n8)+ 3 ki, cos[(2n+1)8]

n=0

+ 3 B sin[2n+1)01+ T hI, sin[(2n+2)9]>. (E4)
n=0 n=0
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(iv) When a - 0, we must have f.(8) = 0, by the orthogonality of circular functions,
equation (59) and the corrected version of equation (60), we get
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Substituting (E5) into the rRHs of (E4) and using the corrected version of (60), we obtain
—iw/4

fi(8) = % sin(2am){i cos(26) +sin(26) + cos(r — 6)

+
h4n =

x [cosh™!|sec(7+ 8)] +1n|2 cos(r+ 6)|]}. (E6)

(v) Therefore, the corrected version of (63) is
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the corrected version of (64) is
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and the corrected version of (67) is
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